BERFURER RS AFKE ? B 2 AE |

X% 1

R 1~

BERFURER RS ATKTE ? HCIRA AT |

--JiFXE 1

R -

£ A2 | FFEP RERSE | BR GKEE | REF
PRAERCA THK? T, HEEKA
(2000) PANLIRIIREID)
&G 30 000
%1_’:+
1 £ X -2000 B X 0 28 000
& £ & €
A 2 =€ 0 X -7000 21 000
= X = €
T~ 3 =€ 0 ' € 0 21000
= X o X
& HIHIUG 30 000
A0
w1 &€ || €.
7 € & €
#2h €| | ' £
5 € = €
s &€ || €.
7 € & €
%4 = € = €
5 € = €
%5 = € = €
5 € = €
%6 e & € & €
4 € i €

EX]| T | R RERE | Pk BKRE | IRE™
PRAERCA THK? 7, HEEKSA
(2000) VANLIMiRE:D!
IEBIMIUG 30 000
?J'Ql:\%—‘
1 = X -2000 b= X 0 28 000
5 € = €
7~ 2 2 € 0 =X -7000 21000
& X o €
R~ 3 = € 0 '€ 0 21000
=5 X 5 X
IEEIMIUG 30 000
e
w1k |2 € || E €.
5 € = €
2k e € | L '€
i € % €
w3 |2 € || E €.
5 € = €
Far = € = €
i € = €
255 P € P €
5 € = €
6 & P € P €
= € = €




BEETIRE RS AFOKT ? B 2 BUAE !

R 2 R 2

BERFHRE BRER S ATOKTE ? B ST |

R 2 R 2

£ A2 | FFEP RERSE | BR GKEE | REF
PRAERCA THK? T, HEEKA
(2000) PANLIRIIREID)
&G 30 000
%1_’:+
1 £ X -2000 B X 0 28 000
& £ & €
A 2 =€ 0 X -7000 21 000
= X = €
T~ 3 =€ 0 ' € 0 21000
= X o X
& HIHIUG 30 000
A0
w1 &€ || €.
7 € & €
#2h €| | ' £
5 € = €
s &€ || €.
7 € & €
%4 = € = €
5 € = €
%5 = € = €
5 € = €
%6 e & € & €
4 € i €
AN SRAEAR T XN IR EE SR - BT S E TR

EX]| T | R RERE | Pk BKRE | IRE™
PRAERCA THK? 7, HEEKSA
(2000) VANLIMiRE:D!
IEBIMIUG 30 000
?J'Ql:\%—‘
w1 = X -2000 b= X 0 28 000
5 € = €
w2 2 € 0 =X -7000 21000
& X o €
R~ 3 = € 0 '€ 0 21000
=5 X 5 X
IEEIMIUG 30 000
e
w1k |2 € || E €.
5 € = €
2k e € | L '€
i € % €
w3 |2 € || E €.
5 € = €
Far = € = €
i € = €
255 P € P €
5 € = €
6 & P € P €
= € = €
70 FAHE T SR NEAR I EE B > BT AR E B




